=

=z

oo

i

o

o
b
)

o
9

DO y=-4x2+1 @ y=-2(x-1)2+10
@y:x2+3x+1

@ y=-22+3x+1
© y=-(x+1)



O AHgHy = —2+ 3v— 2 (-1 < x < 2) o ADAT A%k FL
Fot?

23 16
®-= @-3 0O-

> w



x=-19 ), g3 & 2

A9

@ y=-20x+1)>2-4
@ y=-2(x-1)2+3

— 12
=—-x’-1
@y Qx



4. OJARF y = x* - 2ax-2a -5 2 HEYE m ol E W, m 9
e F-oh?

O -1 @ -2 ® -3 @ -4 ® -5



Ao 2RE 24 30m & WA 2

2t2 SHE b = 30r - 52 1 TATE
ZeH2kE 19 Eol=?

@ 60m @ 55m ® 50m

B
3

=7

Het

=

o x %9

. o] =4

@ 45m

® 40m



6. THe I olAAE y = ax +brtc o] eI}, o] o] 2Hg4o]
43k TohH?

SV

_—
o™~




7. x e M7 x 2 3 Q1 oAk y = 247 - 8kx 2 F[S:gko] 10 &
o, 4 kO] 72

1
@ -1 @ -3 ®

W =
w| ot



8. AL x, y7F2x+y =45 TET

U‘H, x2_|_y294 ﬁ%%}:—% ?_3]_%,)

8
5 ®3 ©)

(AR



%y, z7F AL, 6 +y? + 2% + 2x - 6y — 8z 4 25 9] FH&RF27

@ -5 @ -3 ® -1 @1 ® 3



10.

5
<)
oL,
o
il
2
(N
>
x0,
rr
2
in
B>

Jd

ozl

2

>
o
X
0

122 6000 Yol =
4t 600 o] WFo] YRS, A A olotH, AR E 500
24 W 100 B4 o 2ok AL E QI o] off, & iz
sh7] 99t AL 71A-e

® 3000 ¥ @ 3500 ¥ @ 4000 ¢
@ 4500 ¥ ® 5000 ¥



